

BID2022-08 ELECTRICAL, MECHANICAL AND GENERAL MAINTENANCE EMERGENCY REPAIRS ON AN AS NEEDED BASIS BIDS OPENED 1/25/2021 AT 11:00AM

BID2022-08 ELECTRICAL, MECHANICAL AND GENERAL MAINTENANCE EMERGENCY REPAIRS ON AN AS NEEDED BASIS FOR A PERIOD OF ONE (1) YEAR WITH AN OPTION TO EXTEND ONE (1) YEAR FOR THE CITY OF TRENTON, DEPARTMENT OF WATER AND SEWER		
NUMBER OF RESPONDENTS:	2	
NAME OF BIDDER	MUNICIPAL MAINTENANCE CO	LONGO ELECTRICAL-MECHANICAL, INC.
ADDRESS	1352 TAYLOR LANE	1 HARRY SHUPE BLVD
CITY, STATE, ZIP	CINNAMINSON, NJ 08077	WHARTON, NJ 07885
CONTACT NAME	DAVID GUERTLER	JOSEPH M. LONGO
TELEPHONE	856-786-9434	973-537-0400
FAX	856-786-0642	973-537-0404
E-MAIL	DGUERTLER@MMC-NJ.COM	JMLONGO@EONGO.COM
STATEMENT OF OWNERSHIP DISCLOSURE	INCLUDED	INCLUDED
BID GUARANTEE	10% THE OHIO CASUALTY INSURANCE COMPANY W.P.O.A/GARY B. KOHAN	VENDOR DID NOT SUBMIT A BID GUARANTEE AT THE TIME OF THE BID OPENING THIS IS CONSIDERED A FATAL DEFECT PER THE CHECKLIST
NOTICE OF INTENT TO SUBCONTRACT	N/A	N/A
SUB-CONTRACTORS	N/A	N/A
DISCLOSURE OF INVESTED ACTIVITIES IN IRAN	INCLUDED	INCLUDED
ACKNOWLEDGEMENT OF RECEIPT OF ADDENDA	N/A	N/A
REQUIRED EVIDENCE AFFIRMATIVE ACTION REGULATIONS QUESTIONNAIRE	INCLUDED	INCLUDED
NON-COLLUSION AFFIDAVIT	INCLUDED	INCLUDED
AMERICANS WITH DISABILITIES ACT OF 1990 LANGUAGE	INCLUDED	INCLUDED
NJ BUSINESS REGISTRATION CERTIFICATE FOR CONTRACTOR	REQUIRED FROM VENDOR PRIOR TO AWARD	INCLUDED
NJ PUBLIC WORKS CONTRACTOR REGISTRATION ACT	CERT.#51984 EXP. 05/03/2022	CERT.#610999 EXP. 01/23/2023
EIC	CERT.#6803 EXP. 02/15/2023	CERT.#1909 EXP. 05/15/2023
MANDATORY EQUAL EMPLOYMENT OPPORTUNITY EXHIBIT A	INCLUDED	INCLUDED
EQUIPMENT CERTIFICATION	INCLUDED	INCLUDED
PREVAILING WAGE STATEMENT	INCLUDED	INCLUDED
ETHICS COMPLAINT DISCLOSURE	INCLUDED	INCLUDED
CERTIFICATE OF INSURANCE	REQUIRED PRIOR TO AWARD FROM VENDOR	REQUIRED PRIOR TO AWARD FROM VENDOR
CITY OF TRENTON RESIDENT EMPLOYMENT POLICY	INCLUDED	INCLUDED
60-DAY EXTENSION COMPLIANCE	YES	YES
COMPLIANCE WITH EMERGENCY SERVICES	YES	YES
THREE (3) REFERENCES	INCLUDED	N/A
W-9	N/A	N/A
GRAND TOTAL FOR YEAR ONE (1)	\$125,500.00 (SEE ATTACHED BREAKDOWN PER ITEM DESCRIPTION)	\$150,400.00 (SEE ATTACHED BREAKDOWN PER ITEM DESCRIPTION)
OPTION TO EXTEND		
GRAND TOTAL FOR YEAR TWO (2)	\$126,000.00 (SEE ATTACHED BREAKDOWN PER ITEM DESCRIPTION)	\$153,600.00 (SEE ATTACHED BREAKDOWN PER ITEM DESCRIPTION)
EXCEPTIONS (IF ANY)	NONE	NONE
FATAL FLAW	NONE	FATAL DEFECT

(1)

**EMERGENCY ELECTRICAL, MECHANICAL AND GENERAL MAINTENANCE AND REPAIR SERVICES
FOR THE TRENTON WATER WORKS
CY 2022 PROPOSAL – YEAR ONE**

I (We) hereby certify that I (we) have read the Contract together with the specifications attached hereto and have also examined the site of work and fully understand the meaning of them, and if awarded the Contract, hereby agree that I (We) will comply with all the terms, covenants and agreements set forth therein.

I (We) agree to receive as full compensation for furnishing the services called for under these specifications, complete and finished in every detail and in full accordance with the specifications which are hereby made part and parcel of the Proposal, the following sums:

Item Description	Unit/hourly price	Number of units/hours	Total
General Maintenance & Repair Work	\$ 125. ⁰⁰	500 hours	\$ 62,500. ⁰⁰
Emergency Work (7:30AM to 3:30 PM, Monday through Friday excluding Municipal Holidays)	\$ 125. ⁰⁰	200 hours	25,000. ⁰⁰
Emergency Work (times other than the above)	\$ 180. ⁰⁰	100 hours	18,000. ⁰⁰
Parts Allowance (Fixed)			\$20,000.00
		Grand Total	125,500.⁰⁰

Respectfully Submitted:

Municipal Maintenance
(Company)

(Signature)

Dale Gurne
(Person to Contact)

856-786-9434

(Telephone number)

Check list:

- Site visit
- Experiences & References (documentation)
- Documentation of at least one professional electrical engineer certified in power responsible for the contract.
Include copy of NJ PE certificate.
- Copies of Certificates & letters from pump manufacturer.
- Document the ability of personnel to respond within 1 hour.

BID2022-08- ELECTRICAL, MECHANICAL AND GENERAL MAINTENANCE EMERGENCY REPAIRS ON AN AS NEEDED BASIS- BID OPENING DATE 1-25-2022 AT 11:00AM

(1)

**EMERGENCY ELECTRICAL, MECHANICAL AND GENERAL MAINTENANCE
AND REPAIR SERVICES
FOR THE
TRENTON WATER WORKS
CY 2023 PROPOSAL**

OPTION TO EXTEND THE CONTRACT FOR ONE (1) ADDITIONAL YEAR

I (We) hereby certify that I (we) have read the Contract together with the specifications attached hereto and have also examined the site of work and fully understand the meaning of them, and if awarded the Contract, hereby agree that I (We) will comply with all the terms, covenants and agreements set forth therein.

I (We) agree to receive as full compensation for furnishing the services called for under these specifications, complete and finished in every detail and in full accordance with the specifications which are hereby made part and parcel of the Proposal, the following sums:

Item Description	Unit/hourly price	Number of units/hours	Total
General Maintenance & Repair Work	\$ 125.00	500 hours	\$ 62,500.00
Emergency Work (7:30AM to 3:30 PM, Monday through Friday excluding Municipal Holidays)	\$ 125.00	200 hours	25,000.00
Emergency Work (times other than the above)	\$ 185.00	100 hours	18,500.00
Parts Allowance (Fixed)			\$20,000.00
		Grand Total	126,000.00

Respectfully Submitted:

Municipal Water Service Co
(Company)

J. W. M.
(Signature)

David Gurner

(Person to Contact)

856-786-9434

(Telephone number)

Check list:

- Site visit
- Experiences & References (documentation)
- Documentation of at least one professional electrical engineer certified in power responsible for the contract. Include copy of NJ PE certificate.
- Copies of Certificates & letter from pump manufacturer.
- Document the ability of personnel to respond within 1 hour

(2)

**EMERGENCY ELECTRICAL, MECHANICAL AND GENERAL MAINTENANCE AND REPAIR SERVICES
FOR THE TRENTON WATER WORKS
CY 2022 PROPOSAL - YEAR ONE**

I (We) hereby certify that I (we) have read the Contract together with the specifications attached hereto and have also examined the site of work and fully understand the meaning of them, and if awarded the Contract, hereby agree that I (We) will comply with all the terms, covenants and agreements set forth therein.

I (We) agree to receive as full compensation for furnishing the services called for under these specifications, complete and finished in every detail and in full accordance with the specifications which are hereby made part and parcel of the Proposal, the following sums:

Item Description	Unit/hourly price	Number of units/hours	Total
General Maintenance & Repair Work	\$ 158.00	500 hours	\$ 79,000.00
Emergency Work (7:30AM to 3:30 PM, Monday through Friday excluding Municipal Holidays)	\$ 168.00	200 hours	33,600.00
Emergency Work (times other than the above)	\$ 178.00	100 hours	17,800.00
Parts Allowance (Fixed)			\$20,000.00
		Grand Total	\$150,400.00

Respectfully Submitted:

Longo Electrical-Mechanical, Inc.

(Company)

John M. Longo

(Signature)

Joseph M. Longo

(Person to Contact)

973-537-0400 X-1720

(Telephone number)

Check list:

- Site visit
- Experiences & References (documentation)
- Documentation of at least one professional electrical engineer certified in power responsible for the contract.
Include copy of NJ PE certificate.
- Copies of Certificates & letters from pump manufacturer.
- Document the ability of personnel to respond within 1 hour.

BID2022-08- ELECTRICAL, MECHANICAL AND GENERAL MAINTENANCE EMERGENCY REPAIRS ON AN AS NEEDED BASIS- BID OPENING DATE 1-25-2022 AT 11:00AM

(2)

**EMERGENCY ELECTRICAL, MECHANICAL AND GENERAL MAINTENANCE
AND REPAIR SERVICES
FOR THE
TRENTON WATER WORKS
CY 2023 PROPOSAL**

OPTION TO EXTEND THE CONTRACT FOR ONE (1) ADDITIONAL YEAR

I (We) hereby certify that I (we) have read the Contract together with the specifications attached hereto and have also examined the site of work and fully understand the meaning of them, and if awarded the Contract, hereby agree that I (We) will comply with all the terms, covenants and agreements set forth therein.

I (We) agree to receive as full compensation for furnishing the services called for under these specifications, complete and finished in every detail and in full accordance with the specifications which are hereby made part and parcel of the Proposal, the following sums:

Item Description	Unit/hourly price	Number of units/hours	Total
General Maintenance & Repair Work	\$ 162.00	500 hours	\$ 81,000.00
Emergency Work (7:30AM to 3:30 PM, Monday through Friday excluding Municipal Holidays)	\$ 172.00	200 hours	34,400.00
Emergency Work (times other than the above)	\$ 182.00	100 hours	18,200.00
Parts Allowance (Fixed)			\$20,000.00
		Grand Total	\$153,600.00

Respectfully Submitted:

Longo Electrical-Mechanical, Inc.

(Company)

John M. Longo
(Signature)

Joseph M. Longo, President
(Person to Contact)

973-537-0400 x-1720

(Telephone number)

Check list:

- Site visit
- Experiences & References (documentation)
- Documentation of at least one professional electrical engineer certified in power responsible for the contract.
Include copy of NJ PE certificate.
- Copies of Certificates & letter from pump manufacturer.
- Document the ability of personnel to respond within 1 hour